=/u
X

pailitl
—+

T H 4 W FRR PR /NS AR A BB A Bt & T 5
e T K 5 e T — T B40—1
b1 EKIRERE A0S YRk 284 10H 14R%T
 FBE B
X < FRER N IE L E

R TR R L M T




R B N AR B BE At B T2 TEMRE RS P RR

= 4 60,917,400 a8
T 4l ¥ 4 56,405,000 a8

THE BIAE 24 %A & 4,512,400 5




& W BRIR/NEREIERN B hBE T E No.
2 b1 5 = | B i 4] &
[EREE
I| #ETEHE 1] K 33,104,458
I EXE LEF 1] X 6,825,671
I0 | st T 1 = 3,682,425
ERCEREX ¢ 43,612,554
Hm
1| Hmaes 1] X 1,719,599
| BGEEE 1 =K 5,824,411
— 1 = 5,248,662
FamE 12,792,672
EFF 56,405,226
A EH KA (L FmE) SREES iUl ae 56,405,000
TH B Bl S AH 4 %R 4,512,400
WA (LFEE) 60,917,400




& BN R EEGN R METE

No.
% b i3] = # 2 Bifg B i & )
I |BEITS
Al |SAEELE T 1 =X 11,915,079
A2 |FRRLER - M ENELE TS 1 = 9,830,847
A3 |FER=ERNELETSE 1 =X 11,358,532

o>
T
+

33,104,458




£ W BN EREEFN EMSETS No.
£ FR ] E B {iff | &

A1l ERETSE
1B L 1 KX 2,798,270
2 PiEELETE 1 K 4,003,369
3 |[EATHEHE 1 K 2,658,581
4 [BELETLE 1 K 622,310
5 | T 1 K 1,183,010
6 |fE-wyE 1 K 649,539
&t 11,915,079




£ W BN EREEFN EMSETS No. 4
£ FR ] E B {iff | &
A2 |BERE - EHFEENEIETISE
1B L 1 KX 482,989
2 |EEETH 1 3L 2,248,300
3 |EEekfE T 1 KX 614,735
4 [BELETLE 1 K 693,389
5 | T 1 K 5,166,700
6 |fE-wyE 1 K 624,734
&t 9,830,847




£ W BN EREEFN EMSETS No.
£ FR ] E B {iff | &

A3 | RERZENEHETLSE
1B L 1 KX 353,940
2 AT 1 3L 1,387,700
3 |EEekfE T 1 KX 514,131
4 [BELETLE 1 K 367,407
5 | T 1 K 7,880,808
6 |fE-wyE 1 K 854,546
&t 11,358,532




% R/ NARR B ER S BB TR No.
% #5 i At ff 3 fi&
EXRELE

1 |RENEQEIS 1 = 5, 301, 921
2 |REMEREIS 1 = 167, 235
3 |EREREIE 1 = 928,710
4 |BERERETIE 1 = 135, 375
5 |shEEiETE 1 = 2179, 100
6 |SMEEETE 1 = 13,330
& 6, 825, 671




B W

BRIR/NEREIERN B e T E No.
2 b1 5 = B B i il 4] i
[EREE
I0 | st T 1 = 3,682,425
HE T 3,682,425




D BRIR/NEREIERN R hSETE No. 2
% b i3] 2 Bifg i 28 &
I |HHWEETISE
[=41]
1 | BEKERE L 1 = 584,080
2 |WETEHE 1 X 44,100
[FEA =+ T]
3 |Ra/KER N L 1 K 723,770
4 |HEKEAE %= 1 X 591,440
5 | WAL 1 = 220,795
6 |WETEHE 1 X 90,300
[ZERi=]
T |Fe/KER I L 1 K 616,830
8 |HEKEE %= 1 X 618,690
9 |[H A TE 1 = 119,420
10 |fET=HE 1 K 73,000
&t 3,682,425




